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	2017 July Cisco Official New Released 400-101 Dumps in Lead2pass.com! 100% Free Download! 100% Pass Guaranteed! 

Lead2pass 400-101 braindumps including the exam questions and the answer, completed by our senior IT lecturers and the Cisco

product experts, include the current newest 400-101 exam questions. Following questions and answers are all new published by

Cisco Official Exam Center: http://www.lead2pass.com/400-101.html  QUESTION 141Drag and Drop QuestionDrag and drop each

STP port role on the left to the matching statement on the right.  Answer:    QUESTION 142Drag and Drop Question   Answer:   

QUESTION 143Drag and Drop Question   Answer:    QUESTION 144Drag and Drop Question   Answer:    QUESTION 145Drag

and Drop Question   Answer:    QUESTION 146Drag and Drop Question   Answer:    QUESTION 147Drag and Drop Question  

Answer:    QUESTION 148Drag and Drop Question   Answer:    QUESTION 149Drag and Drop QuestionDrag each NTP command

on the left to its effect on the right.   Answer:    QUESTION 150Drag and Drop QuestionDrag each statement about EIGRP neighbor

peering on the left to the matching peering type on the right   Answer:    QUESTION 151Which interior gateway protocol is based

on open standards, uses a shortest-path first algorithm, provides native protocols, and operates at the data link layer? A.    IS-ISB.   

EIGRPC.    BGPD.    OSPF Answer: A QUESTION 152Refer to the exhibit. All routers are running EIGRP and the network has

converged. R3 and R4 are configured as EIGRP Stub. If the link between R1 and R3 goes down, which statement is true?   A.    R1

sends traffic destined to 192.168.0.100 via R2.B.    R2 does not have a route to 192.168.0.0/24 in the routing table.C.    The prefix

192.168.0.0/24 becomes stuck-in-active on R4.D.    R3 does not advertise 192.168.0.0/24 to R4 anymore. Answer: B QUESTION

153Refer to the exhibit. If the route to 10.1.1.1 is removed from the R2 routing table, which server becomes the master NTP server? 

 A.    R2B.    the NTP server at 10.3.3.3C.    the NTP server at 10.4.4.4D.    the NTP server with the lowest stratum number Answer:

D QUESTION 154Which set of commands conditionally advertises 172.16.0.0/24 as long as 10.10.10.10/32 is in the routing table?

A.     B.      C.     D.      Answer: B QUESTION 155Which component of the BGP ORF can you use to permit and deny routing

updates? A.    matchB.    actionC.    AFID.    SAFIE.    ORF type Answer: A QUESTION 156Which statement about UDLD is true?

A.    The udld reset command resets ports that have been error-disabled by both UDLD and Fast UDLD.B.    Fast UDLD is

configured in aggressive mode.C.    Only bidirectional link failures can be detected in normal mode.D.    Each switch in a UDLD

topology can send and receive packets to and from its neighbors. Answer: A QUESTION 157Which option is a core event publisher

for EEM? A.    TimerB.    Policy DirectorC.    AppletD.    Script Answer: A QUESTION 158Which statement about SSHv2 is true?

A.    Routers acting as SSH clients can operate without RSA keys.B.    SSHv2 supports port forwarding and compression.C.    The

RSA key pair size must be at least 512.D.    You must configure a default gateway before you enable SSHv2. Answer: A 

QUESTION 159Which statement about Cisco Discovery Protocol is true? A.    The multicast address 0100.0cdd.dddd is used as the

destination address for periodic advertisements.B.    An inactive VLAN that is configured on an access port passes periodic Cisco

Discovery Protocol advertisements.C.    The multicast address 0100.0ccc.ccd is used as the destination address for periodic

advertisements.D.    A VLAN must be active on an access port before periodic Cisco Discovery Protocol advertisements are passed.

Answer: D QUESTION 160Which three topologies are standardized by the Metro Ethernet Forum? (Choose three) A.    E-LANB.   

VPWSC.    E-TreeD.    E-LineE.    NPEF.    PNNI Answer: ACD If you use Lead2pass braindump as your 400-101 exam prepare

material, we guarantee your success in the first attempt. Lead2pass 400-101 dump provides you everything you will need to take

your 400-101 Exam. 400-101 new questions on Google Drive: 

https://drive.google.com/open?id=0B3Syig5i8gpDQndBMUJTakdhaEE  2017 Cisco 400-101 exam dumps (All 708 Q&As) from

Lead2pass:  http://www.lead2pass.com/400-101.html [100% Exam Pass Guaranteed]
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